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PATSSV s-32 V4.0-742

1
TER:[PATCH.SRCIPATSSV. 832 1 (1)'

BEGIN

001 MODULE PATSSV (
L 00§ X1F XVARIANT EQL 1
00 ATHEN
88§ % 1 ADDRESSING_MODE (EXTERNAL = LONG_RELATIVE, NONEXTERNAL = LONG_RELATIVE),
06 IDENT = 'v04-000*) =
07
08
09

!tt'tttiititt'itt'lttt'l"tiit'tttt"fitt'i'tftl'!t'lt!t't!"tttt't'tl"tt'tit'
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COPYRIGHT (c) 1978, 1980,
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.

ALL RIGHTS RESERVED.
THIS SOFTWARE IS FURNISHED UNDER A

1982, 1984 BY

LICENSE AND MAY BE USED AND COPIED
ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER
COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY

THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE
AND SHOULD NOT BE
CORPORATION.

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS
SOF TWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.

CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT

.
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g FACILITY: PATCH
ie4
2 E FUNCTIONAL DESCRIPTION:
0037 i CALLS TO STARLET OPERATING SYSTEM I/0 SERVICES. INCLU DE
88%8 : ASSIGNMENT AND DEASSIGNMENT OF CHANNELS, READS, WRITES
0040 1 ! version: v02-018
0041 !
0042 ! Historz:
0043 : uthor:
8822 : Carol Peters, 21 Sep 1976: version 01
0046 ! Modified by: :
882; ; Kevin Pammett, 15-dec~-77: Version 25
0049 ' v03-001 MTR0QO012 Mike Rhodes 16-Aug-1982
0050 ! Modify file names to remove duplicate file name useage
88%1 : between code and require files.
OOS§ : v02-018 PCGO001 Peter aeorge 02-FEB-1981
882? : Add require statement for [IB$:PATDEF.REQ
0056 : v0117  CNHO0016 Chris Hume : 4=0ct=1979 14:00
0057 ' Fix PATSOUT_SYM_VAL to properly insert a Leading zero where




PATSSV 16=Sep=-1984 01:11:43 VAX=11 Bliss=32 V4.0-742 2
v04-000 14=Sep=1984 12:52:48 DISKSVMSMASTER: [PATCH SRCIPATSSV. 832 1 (1)
3 0 0058 1 ! required to distinguish hex cgnstants from symb:ls. This cures

: 0059 1! several anomalies. (PATMAI.B32 02.26)

;60 0060 1 ! s 4

3 @1 0061 1 ! Revision History:

3} ® 006§ 1!

: 6 006 1 ' NO DATE PROGRAMMER PURPOSE

: 6‘ 006‘ 1 ! Rl ---- 4  eseesee-se-sesesess44 s ooeees

3 o 0065 1 !

: 66 0066 1 ! 00 20=-DEC=-77 K.D. MORSE ADAPT VERSION 25 FOR PATCH.

: 67 0067 1! O 27=DEC=77 K.D. MORSE CHANGE PATSOUT_TYP_VAL CALLS TO

= 0068 1 ! FORSCVT ... TOCALC PATSGET VALUE.
H 69 0069 1 ! Og 2=JAN=-78 K.D. MORSE ADD CHECKS FOR IMAGE WITH N0 SYMBOLS.
: 70 0070 1! 0O 4=JAN-78 K.D. MORSE FOR QUTPUTTING COMPLEX NUMBERS,

: 71 0071 1! SURROUND THEM IN PARENTHESIS, AND
: 72 007 12 REMOVE THE SPURIOUS QUOTES

H 73 007 1! AROUND THE COMMA. (26)

: 16 0074 1! NO CHANGES FOR 27.

: 75 0075 1! 04 28-FEB-78 K.D. MORSE NO CHANGES FOR 28-29.

H 76 0076 1 ! 05 02-MAR-78 K.D. MORSE NO CHANGES FOR 30-31.

s 77 0077 1! 06 17-MAR-78 K.D. MORSE ADD CODE TO OUTPUT A LEADING 0

: 0078 1! FOR NEGATIVE HEX NUMBERS TO

: 79 0079 1! PATSOUT NUM VAL. THE CODE WAS

: 80 0080 1! T0 DO TRIS IN PATSINS DECODE

H 81 o081 1! WAS INCORRECT AND THERFORE REMOVED.
H 82 0082 1 ! 07 24-MAR-78 K.D. MORSE NO CHANGES FOR VERS 32-34,

: 83 0083 1! 08 30-MAR-78 K.D. MORSE ADD ''PC-RELATIVE'' ARRAYS.

: 84 0084 1! 09 O07-APR-78 K.D. MORSE ADD PATSPV_TO _CS, AND CHANGE

H 85 0085 1! PATSPRINT_PATH TO USE IT (35).

; 06 0086 1 ! OUT_SYM_VAL NOW CONSIDERS

: 87 0087 1 ! DEFINE SYMBOLS (FOR EXACT

: 88 0088 1 ! MATCHES ONLY) (36).

: 89 0089 1 ! NO CHANGES FOR 37.

H 90 0090 1! 10 25-APR-78 K.D. MORSE CONVERT TO NATIVE COMPILER.

: 9N 0091 1! 1 17-MAY-78 K.D. MORSE SHOW_MODU NOW SKIPS THE GLOBAL

. 92 0092 1! mc. T38)

H 93 0093 1! SHOU MODU PRINTS ERROR MESSAGE

3 9L 0094 1 ! IF TRERE IS NO DST. (39)

H 95 009% 1! 12 18-MAY-78 K.D. MORSE NO CHANGES FOR VERS 40-41.

H 96 0096 1 ! 13 13-JUN-78 K.D. MORSE ADD FAO COUNTS TO SIGNALS.

3 97 0097 1 ! 14 27=-JUN-78 K.D. MORSE ADD LEADING ZEROS FOR HEX

: 98 0098 1! OUTPUT IN OUT_SYM VAL. (42)

H GG 0099 1! 15 28-JUN-78 K.D. MORSE NO CHANGES FOR VERS 43-48.

; 100 0100 1! 16 29-JUN-78 K.D. MORSE NO CHANGES FOR VERS 49.

;101 0101 1! SHOW MODULE NOW PRINTS

;102 0102 1! ALL NUMBERS AS DECIMAL (50).

: 103 0103 1! NO CHANGES FOR VERS 51.

; 104 0106 1!

: 105 0105 1 !==-

|
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g TABLE

FORWARD

L IBRARY
REQUIRE
REQUIRE
REQUIRE
REQUIRE
REQUIRE
REQUIRE
REQUIRE

OF CONTENTS:

ROUT INE

PATSPV_TO (S : NOVALUE,
PATSFAD POT : NOVALUE,
PATSMODOLE _SIZE,

PATSOUT _NUM_VAL : NOVALUE,
PATSOUTCPUT™: NOVALUE,
PATSOUT_SYM_VAL : NOVALUE,

PATSSHOW_MODULE : NOVALUE,
PATSSHOW SCOPE : NOVALUE,
PATSPRINT_PATH : NOVALUE:

'SYSSLIBRARY:LIB.L32';
'SRCS:VXSMAC.REQ®;
'LIBS:PATDEF .REQ';
'LIBS$:PATMSG.REQ';
'SRCS:PATPCT.REQ';
'SRC$:PATGEN.REQ';
'SRCS$:SYSLIT.REQ';
'SRC$:SYSSER.REQ';

12:52i43

- — - — - -

! Defines

¢ 3
CIPATSSV.B32: 10 (2)

Encode a pathvector into a buffer.

Stuff output into current output buffer.
Estimate the RST size of a module.
Output of numeric values.

Actually write out a Line to tty

Output values either in numeric

or in symbolic form.

List off the module chain.

Print out the current (SP.

Print out a symbol pathname

literals

=T OTMOADZ B R =T OMTMOMNDZ B RC—=TITOTMOMNMDZREM R =TITOMMMOMNDZREM X reIOOMMMOMND
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PATSSV 16=Sep=1984 01:11:4 VAX=11 Bliss=32 v&.0-742 Page ¢
v04-000 15- Se 84. 92 :50: &3 _SZSS!DUAZ; :[PAT(H, SRCJSVSSER REG! (1}
;: RO760 1 SWITCHES LIST (SOURCE);
; RO761 1
: RO762 1 EXTERNAL ROUTINE
: :8?,2“ } PATS{ao_out; ! formats a Line and outputs to the terminal
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20 0 000
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cCCCcC
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00 V0D
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- PPN

EXTERNAL ROU
AL

VAL,
PATSGET_BOUNDS : NOVALUE,
PATSGET_VALUE : NOVALUE,
PATSADDNT_T_PV,
PATSREPORT_FREE,
PATSVAL_TOZSYM,

PATSSYMBOL VALU,
SYSSFAOL: ADDRESSING_MODE (ABSOLUTE);

EXTERNAL
PATSGL_SYMTBPTR,
PATSGL_OLDLABLS,
PATSGL _SYMHEAD,
PATSGB_SYMBOLS,
PATSCP_OUT_STR: REF VECTOR[, BYTE],
PATSGB_MOD_PTR: REF VECTOR[, BYTE],
PATSGL _BUF _SI1Z,
PATSGL_CSP_PTR
PATSGL_LAST VAL,
PATSGL_MC_PTR
PATSGL_NERT_LOC;

: ref pathname_vector,
: REF MC_RECORD,

iss=32 v&,0-742

Liss= Page
MASTER:[PATCH.SRCIPATSSV.B32;1

5
(2)

VAL_TO_SYM on define symbols

Understand array descriptors

Takes unmapped address and returns content
Built pathname vectors

Bytes remaining in free storage

Translate values to their

symbolic equivalent

System service to do formatted output

Pointer to default symbol table
Pointer to old Labels symbol table
Pointer to user-defined symbol table
Indicator if image has symbols
Points into current output buffer
Points to current [/0 mode settings
Holds current character count in output bu
The current scope position ((SP)

The last value displayed

Pointer to the module chain (M(C).
Next location to display
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D 16

16=-Sep=-1984 01:11:43 v
14-Sep=1984 12:52:48 D
GLOBAL ROUTINE PATSFAO_PUT( STRING, ARGUMENTS ) : NOVALUE =

l4e

FUNCTIONAL DESCRIPTION:

Do just what $FAD does, only here we work in co-operation with a
g%o at czaracter buffer into which we are encoding arbitrary Lines
of output.

0 32 V4.0-742
1 R:[PATCH.SRCIPATSSV.B

ALl console output done within PATCH should use this routine to build
output Llines. The only other 1/0 call which PAT(H should be making
(for the ctonsole) is to PATSOUT_PUT, which simply says '‘put out whatever
PATSFAL_PUT built'',

CALLING SEQUENCE:
PATSFAO_PUT ();

INPUTS:

STRING - A counted string which contains the directives for $FAD.
ARGUMENTS = The arguments for $FAO.

IMPLICIT INPUTS:

PATSCP_OUT_STR = Pointer to where we are in the current output buffer.
PATSGL_BUF _SI1Z = Count of characters in output buffer,

QUTPUTS:
The $FAD output is put into the output buffer.
IMPLICIT QUTPUTS:
The global character pointer is incremented so that it points
(as always) to the next available place in the output buffer.
The buffer count variable is incremented by the size of this string.

ROUTINE VALUE:

none
SIDE EFFECTS:

none

BEGIN

MAP

LOCAL STRING : REF VECTOR[C,BYTE];
INP_DESC : VECTOREsg. ! Input desc for $FAQ
OUTCDESC : VECTOR[Z], ! Qutput desc ior $FAD
STR_SIZE : WORD; ! $FAD returns output size here

fee
! Build the descriptors that $FAD wants, ask it to do the encoding,

Pa
32:1

ge

6
(3
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; Routine Size:

-Sep~1984 01:
-Sep~ 193 4 12:
47 ! copying the output into our global outout buffer, and
2;5 : glogalgpo1nter to the next f?eo characger position in
475 INP_DESCL0] = .STRING[OJ;

(72§ hebescinl < sy

47 QUT_DESC sg] = TTY OUT WIDTH = 1 = .PATSGL BUF _SI1Z;

478 OUTTDESCL1] = .PAT!CP Uur STR;

479 SYSSFAOL( INP _DESC SIZE OUT DESC, ARGUMENTS );

480 ¢ PATSCP_OUT_STR = ﬁArscP STR ¥ .STR_SIZE;
2233 ¢ :agSGL “BUFSIZ = .PATSGL- BUF SIZ + .STRCSIZE;

10 AE 04
04 AE 00000083 8F

75 bytes,

0C

000000006 g
6
5
6

WONO ™

Routine Base:

0
EF 0
EF 0
14
06 BC 9A
01 Q1
63 C
62 D
08 AC 9F
80 AE 9F
8 AE O9F
18

_PATSCODE + 0000

elelelolelalels el el =il " = =t

slelelelelelelelelelelelelele lelel=

£ 5 5 S Aaninonn - = — =009
B NS SN SS =MD ~NMOWO OO
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DO —-am
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1
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3
148 DISKSVMSMASTER: (

F e

VAX=11 Bliss=32 Vv 7 &2

inally update the
e buffer.

PATSSV
\V04-000\
0
6

24
PATSFAO_OUT, PATSFIND VAL
PATSGET™ aounos PATSGET_VALUE
PATSADD NT T P
PATSREPORT" rREE
PATSVAL_TOTSYM, PATSSYMBOL _VALU
SYSSFAOC, PATSGL _SYMTBPTR
PATSGL OLDLABLS
PATSGL_SYMHEAD, PAT$GB_SYMBOLS
PATSCPTOUT_STR, PATSGB MOD_PTR
PATSGL_BUF"SI1Z, PATSGL_CSP_PTR
PATSGL_LAST VAL
PATSGL-MC _PTR, PATSGL _NEXT_LOC
ACCESS_CHECK

_PATSCODE ,NOWRT,2

PATSFAO PUT, Save R2,R3
PATSGL _BUF sxz R3
PATSCP OUTCSTR, az

asrﬁxuc INP DESC
STRING, INP_DESC
PAstL _BUF_S17, 0&%1

O =N

+4

OUT_DESC
DESC+Z

PATSCPTOUT_STR,

S$$FAOL
svﬁ slzs RO
ip 801 STR

RO, PAtséL _BUF _S12

.SRCIPATSSV., 832 1

/
(3)

2615

2480
2481
2482
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PATSSV 1
v04-000 1

GLOBAL ROUTINE PATSMODULE_SIZE( MC_PTR ) =

144
; Functional Description:

.8-752 ??ge

Vé 9
:(PATCH.SRCIPATSSV.B32 (4)

Given an MC pointer to a given module, estimate how man{ bytes of RST
storage would be required to SET (initialize) this module into the RST.

i Calling Sequence:

The routine is simply called to pick up the returned value. The reason
uh¥ it is_global is because it is called in PATSSHOW_MODULE, of
PATSSV.B32, and in ADD_MODULE, of PATBLD.B32.

i Formal Parameters:

MC_PTR =An MC pointer which tells us all we need
to know about the indicated module.

i Implicit Inputs:

considerations. This means that in all Likelihood we overestimate.
(We guarantee NOT to underestimate in any case.)

AWANES BN IS 85 55 85 5 5 5 55 NN NN N NN

S LS LST N ST ST ST ST NT NSNS SLSLSTNLSTSLSTEST ST NLSLNTST ST NSNS ST STN)
N=0O OV ~NO WV NN =OVO NI WV BNN = OV NN = O

|
|
|
i
|
]
|
|
]
|
]
1
|
]
|
!
2 The RST storage we consider is independent of GLOBAL
]
]
|
]
|
|
'
]
|
]
]
|
]
]
]

VIV NVWIWNWNWUVIWANAWNWNES S S S S BB 0000 2

W AN AN AN N N A N W AN PO RN R N RINONIN) b e e e e e e e e 2 O O O O O O O O O OO O O O OO O OO O 0000 00 00 0000 00

ST ST N NT T SN LN ST N LN NI NN TN LS LN LN LN TN N N AN LA S LA N LN N TSN N NI T NN NS LS NS LSS LN LSS NSNS LS SN N S 8]
OO NN NN = OOV NS AN 2OV NS BN 2OV NO WS WN 2OV NN S IR = O V0 ~NON WSS N

AUNININIRININI NI NI NININININININININD ~b b b b d cd d e cd e d e d o d e e o b o D e o e D d e e D o D e D o e o o e d

e A TR PR T R R TR FE TR R DR P LR R L L N LR TR PR EE LR LR LR DR TR TR TR TR T TR TR TR R T TR T TR TSR N T TR R T TN TN e

S

S How the storage manager works, and how we

g use it to allocate all RST storage.

g i Implicit Outputs:

g none.
223 | Return Value:
264 The number of bgtes required to add the module
%gg to the Runtime Symbol Table data structures.
267 low
268
269 5 BEGIN
270 b)
27 5 MAP
2;% g MC_PTR : REF MC_RECORD;
$7L 5 LOCAL
275 5 TOTAL_BYTES;
276 5
277 5 lee
278 S ! Macro to calculate the total number of_b‘tes

279 5 ! taken for so-called vector storage-(whic

gg? g ; is how we allocate NTs, LVTs, and SATs).
B HR e

284 M 25 VEC_STORAGE _FOR( RECORDS, SIZE ) = (XUPVAL + ! The storaae marager's overhead,
%gg Sg ( (RST_UNITSC RECORDS + SIZE )) ~ XUPVAL )JX; ! Rounded up vector st
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: Sgg 22? 5‘? L h L number of b ded dd the NT 1

: ! Ta up the total number o tes needed to a the NTs, LVTs, d

: 588 gzg ; SATsyfog the indicated module.y First initialize counter. s
;291 544 ¢ TOTAL_BYTES = 0;

: 29 545

3 29 546 144

: %gg gz; § ! Although it is not true, we must assume that NT entries are fixed=-size.
: 539 %ggg iOTAL_BYIES = VEC_STORAGE_FOR( .MC_PTR [MC_NAMES], RST_NT_SIZE );

: %gg %gg} E’xdd that tak f SAT d LVT

3 -4 on a aken for S a .

t %00 5385 5 i s

: 501 2554 % TOTAL_BYTES = .TOTAL_BYTES

;302 2555 + VEC_STORAGE _FOR( .MC_PTR [MC_STATICS], RST_SAT_SIZE )
;303 2556 2 + VECZSTORAGE_FOR( .MC_PTR CMC_LITERALSI, RST_LVT_SIZE );

: 304 2557 2

: 305 2558 2 !4+

;. 306 2559 2 ! Return the size.

;. 307 2560 2 !==-

: 308 2561 2 RETURNC.TOTAL_BYTES);

: 309 2562 1 END;

.EXTRN PATSGL_RST_BEGN

000C 00000 .ENTRY PATSMODULE SIZE, Save R2.R3 : 2483

50 04 00002 CLRL TOTAL _BYTES : 2544

52 04 AC 000000006 EF C1 00004 ADDL3  PATSGC_RST_BEGN, MC_PTR, R2 ; 2549
51 08 A2 2C €5 0000D MULL3  #44, 8TR2), R1 :
51 03 ¢0 00012 ADDL2 #3, R1 3
S1 04 C6 00015 DIVLZ #4, R :
50 51 02 78 00018 ASHL #2, R1, TOTAL BYTES 3
50 04 €O 0001C ADDL #4, TOTAL BYTES 3

51 31 A2 0A €S 0001F muLL3  #10, 49(R2), R1 : 2555
51 03 CO0 00024 ADDL2 #3, R1 3
51 04 C6 00027 DIVLZ #4, R1 :

53 6041 DE 0002A MOVA (TOTA% BYTES)[R1], R3 ; 2556
52 . A 06 (5 000%5 MULL #6, 53TR2), R2 3
51 03 A2 9E 00033 MOVAB 3(R2), R1 :
51 04 €6 00037 pIvle ¥4, Ri ;
50 08 A341 DE 0003A MOVAL 8(R3)[R1], TOTAL_BYTES :

04 0003F RET : 2562

; Routine Size: 64 bytes, Routine Base: _PATSCODE + 004B
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GLOBAL ROUTINE PATSOUT_NUM_VAL ( VALUE, NEW_LENGTH, NEW_RADIX, ZERO_FILL) : NOVALUE =

l+4
! Functional Description:

1
(5)

Format the given value according to the current output mode settings.
The formatted value is inserted into the output buffer described by

PATSCP_QUT_STR and PATSGL_BUF SIZ. If the value is formatted in
2exad:ci?at and negative and ZERO_FILL is TRUE, then a Leading zero
s output.

Calling Sequence:
PATSOUT_NUM_VAL (VALUE, NEW_LENGTH, NEW_RADIX, ZERO_FILL)
Inputs:

VALUE = The actual value we are to write out.
NEW_LENGTH - Either 0, or the MODE _LENGTH we should use.
(0 => use current LENGTH, non-zero allows
it to be overridden.) ;
(The Literal, NO_OVERRIDE = 0, is used for this.)
IX = Either 0, or the MODE_RADIX we should use.
LL = Indicator if leading zero should be output
(TRUE = yes, FALSE = no)

NEW_RAD
ZERD_F1I

Implicit Inputs:
PATSGB_MOD_PTR = points to the current mode data structure.

L LV LV (W T T T T W T T LW T TV T T W W W TN T T T
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OO0 O0VVVVVYVOVOVO0000EO00000000 NNNNNNNNNNOT OO OO
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S S S ST EES EES S EES G PSS G G S S S S S S S S S S R S S S S S e e e e e e e e -
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340 PATSCP_OUT_STR - points into the output buffer at the first
341 Lace in the buffer which is available.
342 PATSGL _BUF _SIZ = holds the current number of characters in
343 the buffer.
344
345 Outputs:
346 _ :
347 The (numeric) character representation
§23 of the value is encoded into the output buffer.
gg? Implicit Outputs:
352 2604 The buffer pointer, PATSCP OUT_STR, is incremented.
ggz 2285 The buffer count, PATSGL_BOF_STIZ, is incremented.
355 560 Routine Value:
356 2608
357 2609 NOVALUE.
358 2610 _
359 2611 Side Effects.
360 2612 ; ,
361 261 Negative hex numbers may be preceded by a leading 0.
62 2614 -
63 615
64 616 BEGIN
65 617
66 618 LOCAL
367 2619 USE _LENGTH, ! The MODE_LENGTH we actually use
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USE_RADIX; ! The MODE_RADIX we actually use

OWN
FORMAT : VECTOR[4,BYTE]

! Build format string here
INITIALC BYTE( %ASCIC *'22' ) );

44
: Assume that we are fassed an override for the LENGTH and RADIX,
! but revert to the globally-set one if this is untrue.

iF ((USE_LENGTH = .NEW_LENGTH) EQL 0)
THEN

USE_LENGTH = .PATSGB_MOD_PTR [MODE_LENGTH];
%;Eé(use_nAblx = .NEW_RADIX) "EQL™0)

USE_RADIX = .PATSGB_MOD_PTR [MODE_RADIX];

!00
! Now just build the required 2-character format string descriptor,
; based upon the current setting of the mode lLength and radix.

| We assume signed, for decimal output, and take longword hexadecimal either

! when that is exp[1c1tly the case, or when some unknown Length or radix is indicated.

FORMATL2) = . ssgggrone .USE_RADIX OF
COCTAL RADIX]: '0';
CDECIMAL RADIX]: ¢
[OTHERWISE]: "X*:
TES
¥
FORMAT[3) =

( SELECTONE .USE_LENGTH OF

(BYTE_LENGTH): 'B';
[WORD LENGTH]: 'W';
gggHERUISEJ: o Ty

):

o4
! Now check if the output radix is hexadecimal and if a leadina zero is needed.
! This is required to make PATCH output acceptable as input. Hexadecimal
! numbers require the leading character to be a numeric.
IF (.FORMAT[2] EQLU *X') AND (.ZERQ_FILL) AND
(.(VALUE) <O, .USE_LENGTH*8, 1> GTRA XX'9FFFFFFF')

THEN
BEGIN
PATSCP_OUT_STRC0] = '0';
PATSCPTOUT™STR = .PATSCP_OUT_STR + 1;
EagSGL_BUF_SIZ = PATSGLBUF-SIZ + 1;

PATSFAO_PUT ( FORMAT, .VALUE );
END;

age
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PATSSV 16=5ep=1984 01:11:43 VAX=11 Bliss=32 V&4.0-742 Page 13
v04=000 14=Sep=1984 ?2:52:48 DISKSVHSHASTER:[PATCH.SRCJPATSSV.BSZ:lg (5)
.PSECT _PATSOWN,NOEXE,2
3F 3F 21 03 00000 FORMAT: .ASCII <3>\!77\ ;
.PSECT _PATSCODE,NOWRT,2
0004 00000 .ENTRY PATSOUT NUM VAL, Save R2 : 2563
52 00000000* EF 9E 00002 MOVAB  FORMAT+2, R? :
50 08 AC D00 00009 MOVL  NEW_LENGTH, USE_LENGTH ;2630
08 12 0000D BNEG 18 :
51 000000006 EF DO 0000F MOVL  PAT$GB_MOD_PTR, R1 ;2632
50 01 A1l 9A 00016 MOVZBL 1(R1), USE LENGTH :
51 0C AC DO 0001A 1%: MOVL  NEW_RADIX, USE_RADIX : 2633
07 12 0001E BNEQ 2% :
51 000000006 FF 9A 00020 MOVZBL @PAT$GB_MOD_PTR, USE_RADIX : 2635
08 51 D1 00027 2%: CMPL USE_RADTX, #8 : 2646
06 12 0002A BNEG 3% :
51 4 BF 9A 0002C MOVZBL #79, Rl :
OF 11 00030 BRB 5% :
0A 51 D1 00032 3$: CMPL  USE_RADIX, #10 P 2647
06 12 00035 BNEQ 4§ :
51 53 8F 9A 00037 MOVZBL #83, R1 :
"~ 04 11 00038 BRB 5% :
51 58 8F 9A 0003D 4%: MOVZBL #88, R1 : 2648
62 §1 90 00041 5%: MOVE  R1, FORMAT+2 ;2644
01 50 D1 00044 CMPL  USE_LENGTH, #1 : 2654
06 12 00047 BNEQ 68 :
51 42 8F 9A 00049 MOVZBL #66, R1 ;
OF 11 0004D BRB 8s ;
02 S0 D1 0004F 6%: CMPL  USE_LENGTH, #2 ;2655
06 12 00052 BNEQ 7% :
51 57 8F 9A 00054 MOVZBL 487, R1 :
04 11 00058 BRB 8$ ;
51 4C 8F 9A 0005A 7%: MOVZIBL 476, R1 ;2656
01 A2 51 90 0005 8%: MOVE  R1, FORMAT+3 ;2652
58 8F 62 91 00062 CMPB  FORMAT+2, #88 ;2665
29 12 00066 BNEQ  9$ ;
25 10 AC E9 00068 BLBC  2ERO FILL, 9% ;
50 08 C4 0006C MULL2 #8, RO 2666
51 04 AC 50 00 EE 0006F EXTV  #0. RC, VALUE, R1 ;
9FFFFFFF  BF 51 D1 00075 CMPL  R1. #-1610612737 ;
13 18 0007C BLEGU 9% ;
000000006 FF 30 90 ooorg MOVB 448, aPATSCP_OUT_STR ;2669
000000006 EF D6 0008 INCL  PAT$CP_OUT_STR : 2670
000000006 EF D6 0008B INCL  PATSGL™BUF~SIZ ;2671
04 AC DD 00091 9%: PUSHL  VALUE ;2674
FE A2 9F 00094 PUSHAB FORMAT :
FED9 CF 02 FB 00097 CALLS  #2, PATSFAOQ_PUT :
04 0009¢C RET P 2676

; Routine Size: 157 bytes, Routine Base: _PATSCODE + 0088
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PATSSV 16-599-1934 01:11:4% VAX=11 Bliss=32 V4.0=742 [
v04-000 14=Sep=1984 12:52:4 DISKSVMSMASTER: [PATCH.SRCIPATSSV.B32;
: 4%6 677 1 GLOBAL ROUTINE PATSOUT_PUT ( BUFFER ) : NOVALUE =

s W27 673 1

: 428 679 1 l+¢ ;

s 429 680 1 ! Functional Description:

;. 430 2681 1!

o3 268§ ] 3 Cause the current output buffer to be actually

3 43% 2683 1! output to the console.

;43 %684 ] 1 ;

;634 685 1 ! Calling Sequence:

: 635 2686 1 !

;. 636 2687 1 ! PATSOUT_PUT ()

: 4%7 %688 3 8

; 438 689 1 ! Inputs:

;639 2690 1 !

;440 2691 1! BUFFER = Pointer to the beginning of the current output
YA | 2692 1! buffer. this is supposed to be a counted

. 442 2693 1 ! string except that noone has supplied the count yet,
;443 2694 1 ! ie we expect that the actual string to be printed

I YY) 2695 1 ! starts in byte BUFFER+1.

s 445 2696 1 ! i

;446 2697 1 ! Implicit Inputs:

;447 2698 1 ! : ; ;

; 448 coy 1! PATSCP_OUT_STR = Points into this output buffer at the first
;449 2700 1! ﬂlace in the buffer which is NOT to be printed.
;. 450 2701 1! PATSGL_BUF _SIZ = Holds count of characters in buffer

;45 2702 1!

;. 452 2703 1 ! Outputs:

: 453 2706 1!

: 454 eV § The string is printed, exactly as it is in the

;. 455 2706 1! buffer - ie, it should contain whatever carriage control

;. 456 2707 1! you want.

;457 2708 1!

; 4S8 2709 1 ! Implicit Outputs:

;459 2710 1! : : 2
; 460 eril § 3 The buffer pointer, PATSCP_OUT_STR, is set to zero. This will
: 461 &g 1 1 help routines know if gher are to use their own buffer or

: 462 er1y 4§ i if one is already partially built,

; 463 2714 1 ! #+« | don't think we have ever actually used the above

;. 464 e715 1! 'feature', and feel that this routine ought, instead, set

: 465 2716 1! up for more PATSFAO_PUT calls on the current buffer when we
;466 2717 1! are called to output it.

; 467 2718 1! g

; 468 2719 1 ! Routine Value:

;469 2720 1!

: 470 2721 1! NOVALUE.

Y4 eieg ¥ %

: 472 2723 1 ! Side Effects:

; 473 27264 1!

: 474 eie? 11} none.

: 475 2726 1 !--

: 476 2727 1

: 477 2728 5 BEGIN

; 478 7%9

: 479 730 2 MAP ;
; 480 731 2 BUFFER : REF VECTORL,BYTE]; ! Points to output buffer
; 481 273§ 2

; 482 2735 2 !++

age
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; 2 2 ; g ; Fill in the count, and pass it to QlO.
P 4BS 7 9 BUFFER [0] = PATSGL _BUF sxz
;. 4B6 7 $FAD TT OUT ( 8 .BUFFE
;. 4LB7 738 PATSCP UUT STR =
I Y 739 1 END;
PSECT
3 00000 P.AAA: .BYTE
43 i 21 080? LASCII
.PSECT
0000 00000 .ENTRY
04 BC 000000006 EF 90 00002 MOvVB
04 AC DD 0000A PUSHL
00000000 EF 9F 0000D PUSHAB
00000000G EF 02 FfB 00013 CALLS
000000006 EF D4 0001A CLRL
04 00020 RET

; Routine Size: 33 bytes, Routine Base: _PATSCODE + 0128

g X=11 §=32 V4,0-742 Pa ge

D SK$V H TER:CPATCH.SRCIPATSSV.B32;1

_PATSPLIT,NOWRT ,NOEXE ,0

3
\IACN

_PATSCODE ,NOWRT, 2

PATSOUT_PUT, Save nothing
PATSGL _BUF sxz. aBUFFER
BUFFER™
P AAA
PATSFAO_OUT
fscp _OUT_STR

RO
~N -~
WA~
~NOo~

oo

~N =~
0O 0o

1
(6

6
)
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GLOBAL ROUTINE PATSOUT_SYM_VAL ( VALUE, NEW_LENGTH, NEW_RADIX ) : NOVALUE =

144
5 Functional Description:

Write out the given value according to the current

mode setEings = including the current mode setting

for the [NOJSYMBOLS flag. (By 'write out', we mean
‘encode into the output buffer').

Calling Sequence:
PATSOUT_SYM_VAL ()
Inputs:

VALUE = The actual value we are to write out.
NEW_LENGTH = Either 0, or the MODE _LENGTH we should use.

(0 => use current LENGTH, non-zero allows

it to be overridden.)

(The Literal, NO _OVERRIDE = 0, is used for this.)
NEW_RADIX = Either O, or the MODE_RADIX we should use.

Implicit Inputs:

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

;

i

i

: PATSGB_MOD_PTR = Points to the current mode data structure.
! PATSCP_OUT_STR - Points into the output buffer at the first
: Lace in the buffer which is available.

: PATSGL_BUF _SIZ - Holds the current number of characters in
5 the buffer,

E Outputs:

i
i
i
i
i
i
i
i
i
i
i
i
i
i
le

The symbolic or numeric (or symbolic+residue) representation
of the value is encoded into the output buffer.

Implicit Outputs:

The buffer pointer, PATSCP OUT_STR, is incremented.
The buffer count, PATSGL_BOF_STZ, is incremented.

Routine Value:
NOVALUE.

Side Effects.
The VALUE is printed out.

BEGIN

LOCAL
ARRAY_DESC_ADDR,

NT_PTR : REF NT_RECORD, D
whic’
deal w

i

The address of an array descriptor,
f we symbolize an array reference.
A pointer to the name table (NT) entry

orresponds to the symbol which we
th if we do symbolic output.

1
7

7
)

PAT
V04
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fEsin
i Found an exact match. Print this and return an 0K status.

géiaaao_Pur<ulet(zAscxc "1AD'),.SYM_CHCOUNT(.INDEX),SYM_NAME (. INDEX));
END;
END;
¢

Even though PATSVAL_TO_SYM 'initializes' NT_PTR when we pass on its address,
we must still initialize it to zero because otherwise the top half of the
longword never gets cleared. (PATSVAL_TO_SYM thinks, and rightly so,

that NT_PTRs are only 2 b;tos long, the problem is that BLISS doesn't realize
this when it passes .NT_P

R on as an actual parameter later on.)

838%32%38832gmbuN-aoouNO\nbum—lo-oa-qg

D 1
PATSSV 16=Sep=-1984 01:11:4 VAX=11 Bliss=32 V4,0-742 Page 18 PAT
04-000 1223001080 0iddiad  WNSKAmeMAT R oA Bcpatssy.e3i et (IS V04
47 797 REAL _VALUE, ! Used to recover the actual or real value
28 ;38 ; oftth: s¥?bol we may base our symbolic
! output off.
550 800 PATH_VEC : PATHNAME_VECTOR; ! Symbol path vector used to contain the
551 801 ! whole pathname assocaited with the
SS% 80; ! symbol pointed to by NT_PTR, above.
25 80
54 804 L4+
555 805 ! First, see if the value is an exact match to a DEFine type symbol. Note that
556 806 ! these symbols have nothing to do with the so-called RST and so much be handled
557 2807 ! special ‘. First Llook in the current Label symbol table, then in the old
ggs 5383 ; Label table, and Lastly in the user-defined symbol table.
560 2810 IF (.PATSGB_MOD_PTR[MODE_SYMBOLS])
561 811 THEN
Sbg 8 % BEGIN
56 8 . LOCAL
564 814 TEMP_SYMTB,
ng Zg 2 INDER; : R
56 2817 3 INDEX = PATSFIND_VAL (.VALUE,TRUE);
56 2818 & IF (.INDEX EQL OY
56 2819 3 THEN
57 %8 0 4 BEGIN
57 821 & TEMP_SYMTB = ,PATSGL_SYMTBPTR; ! Remember current lLabel table
57 2822 & PATSGL_SYMTBPTR = ,PATSGL_OLDLABLS; ! Use old Labels symbol table
57 2823 & INDEX = PATSFIND_VAL(.VALOE,TRUE);
57 2826 S IF (.INDEX EQL 0F
57 Zg S & THEN
57 2826 S BEGIN
57 2827 S PATSGL_SYMTBPTR = _PATSGL_SYMHEAD; ! Use user-defined symbol table
57 2828 S INDEX = PATSFIND_VAL (.VALOE,TRUE);
57 2829 & END;
58 2830 & PATSGL_SYMTBPTR = .TEMP_SYMTB; ! Restor current label table
58 2831 3 END;
58 28 g 4 IF (.INDEX NEQ 0)
58 28 3 THEN
58 2834 &
58 Zg 5 &
5 2836 &
5 2837 &
5 838 &
S 839 &
5 g 0
5 1
5 8 g
5 8
S 844
g 845
3 %
S 8
5 o
0
%

VIVAWVAWA S B 2& B85 85 8 B B NN AN A N WA NN PO NI NI PO PONI RO NN =2 e e b e b b b D

8 lwe
NT _PTR = 0;
6 ARRAY_DESC_ADDR = 0;
601
60% 14e
60 ! First, see if we should even attempt symbolic output.
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gsié.PATSGB_HOD-PTR CMODE_SYMBOLS]) AND (.PATSGB_SYMBOLS)

! Next, ask VAL_TO_SYM for the NT-pointer which
: corresgonds to the symbol we should use.

! The 'FALSE' sa‘s
! (Literals) to be

tha

we don't want LVTs

considered.

%;EﬁPATSVAL_To_SVH( .VALUE, NT_PTR, FALSE))

144

! Then, to be able and output ''symbol+offset'’,

! we must

be able to recover the actual value

! of the indicated symbol.

;aséPATSSYHBOL_VALU( .NT_PTR, REAL_VALUE))
e
i See if the value picked ug bz PATSSYMBOL _VALU is

S DO

! reall
! symbo

! Note
! were created only for global symbols.

the address which und to the
or if it is the address of a descriptor.

that DST_PTR is invalid for NTs which

IF (.NT_PTR [NT_UP_SCOPE] NEQ 0)
THEN

BEGIN
LOCAL
BOUNDS & ARRAY BNDS D

S
DST_RECRD : REF DST_REC

ESC,
_RECORD;
l+¢
! Pick up the DST pointer so that we can see

! if access is via descriptor.

DST_RECRD PTR [NT_DST PTR]:

IF T.DS DSTR_ACCTES_TYPE] EQL ACCS _DESCRIPTOR) AND
RDCDSTR_ACCES_BASD) EQL AECS BASDIR) AND
RDCDSTRZACCES”BREG) EQL 15) ¥ OR
RDCDSTRTACCES_BASD] EQL 0) AND

“RECRDLCDSTRCACCES_BREG] EQL 0) ) )

~
~
alsnlnlnls)

R_A
RACC
R-ACC
R-ACC

! REAL_VALUE, returned above, is actuall

! the address of a descriptor, Modify this
! value to be the beginning virtual address
! of the array.

ARRAY DESC_ADDR = .REAL_VALUE;

PATSGET _BOONDS( .ARRAY BESC_ADDR, BQUNDS);
gssL_vatue = .BOUNDS CARRAYZADDRESS];

END;

P
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t For unbounded s;nbols. we don't
! allow "'symbol+offset'’ unless ''offset"’
! is less than a maximum value.

IF (C(,VALUE = ,REAL_VALUE) LSSA RST_MAX_OFFSET)
R (.NT_PTR ENT_IS_BOUNDED]))

feean

i We have all we need now, so %ust

! encode the characters into the

! output stream, To do this we

; must first build a pathname vector
i

to correspond to the NT scope chain we
' implicitly now have.

PATSADD_NT_T_PV( .NT_PTR, PATH_VEC );

144
! Then we simply print this vector.

PATSPRINT_PATH( PATH_VEC );

led

! See if Ehere is any residue - i.e. see if

! “symbol[(...)])'" is sufficient, or if we must
s output “‘symboll[(...)]+offset''.

;;E§.vuuue EQL .REAL_VALUE)
RETURN; ! No residue => we're done.

l4e

! The residue (offset) should

! be printed in numeric form, preceeded
; by a '+'.

PATSFAO_PUT(UPLIT(XASCIC *+°*));
VALUE = .VALUE-.REAL_VALUE;

!00

! We should be able to simpl

drop out of this part of the

code and have this done b¥ PATSOUT _NUM_VAL.

gntil FAO can print HEX without the leading
s, we must do the following...

;aea.PATSGB_HOD_PIR CMODE_RADIX) EQL HEX_RADIX)
BEGIN

44

! Special cludge to ignore leading 08.
! But to then put txactl¥ 1 leading

! when the rest begins with A-F.

LOCAL

p 0
cIPATSSV.832. 15 (%S




WA LNIN NN NN NP NI NI NN = 2

NNNNNNNNNNNNNSNNNNN |
N LN N = OO 00 NN ES AN = OO 00 8

AN NININININININI NI NINININI S NONINOND
O 0 O 0O VOV OO OOV O OOVOO
000000000000 N NN NNNNNNNOO
Vi~ -t OO 00 NN LS ANND = CNO 00

99
99

AN LS LS LN NS TN LN LN N TN

T4
i We didn't

|
|
|
I

EATSOUT NUM_VAL (

20
00 00 00 4C 58

t try to do s
i it went OK but we sti

END;

WOO—

OO~

S IV [N 1,8 ]

—Oom—

O MMM mMmm
—=OmM MMM T

eND;

mbolic output
L have a

. «NEW_LENGTH,

cocoo
e purtyet

03FC

O OO
mmmmm

OMOOY

‘res

o 0orm

.43 VAX-11 Bliss=32 V4.0-742

14 DISKSVMSMASTER: LPATCH.SRCIPATSSV. 832 l
E ! # of digits for FAO.

} ! First non-zero digit.

l+4
: We must always print at least 1 digit.

gECRU I FROM 7

BEGIN
CLUDGE SIZE = .I+1
IF (CLODGE_VAL=. VALUE( I*4,4,0>) NEQ O

THE
EXITLOOP;
END;

IFE.CLUDGE VAL GEQU XX'A'

PATSFAO PUT(UPLIT(XASCIC' 0'))
PATSFAO_PUT( UPCIT( XASCIC *'#xL' ),
“.CLUDGE _SIZE,.VALUE);

RETURN;
END;

or we failed completely at it, or
due' value to output.

NEW_RADIX, TRUE);

.PSECT _PATSPLIT,NOWRT,NOEXE,O
P.AAB: .ASCII <3>\!AD\
P.AAC: LASCII <1>\+\<0><0>
P.AAD: L.ASCII <1>\0\<0><0>
P.AAE: LJASCII <&>\'miL\<0><0><0>
PSECT _PATSCODE ,NOWRT,2
.ENTRY zsrsour SYM_VAL, Save R2,R3,R4,RS,R6,R7,R8,-
000 MOVAB  PATS$GL_RST_BEGN, R9
MOVAB  PAT$GB MOD PT RS
1 MOVAB  PATSFIRD VAL, 67
1 MOVAB  PATSFAO PUT, Ré
1§ MOVAB P.AAB, RS
MOV PAtsst SYMTBPTR, Ré
A SUBL? #60, SP
MOVL PAtiGa ngo PTR, RO
BLBC 2(n
PUSHL

* &

LER T T

: 2740

2810
2817

LI TE RE PR PR PR PR PR TR PR T

PAT
V04

R

I TETERIEA AT LA E O 11

LR TE TR LR T T

Ve Ve Be e Ve Roe g
~rm



H o1
PATSSV 16-Sep=1984 01:11:4 VAX=11 Bliss=32 V&.0=742 Page ef
V04=000 13-30001080 $:10:48 BN limana e R MA TSR apatssy a3 19 (9
046 AC DD 3 PUSHL  VALUE :
67 F CALLS  #2, PATSFIND_VAL :
? C ;ﬁgk igbex . 2818
52 & D 4§ MOVL  PATSGL_SYMTBPTR, TEMP_SYMTB ; 2821
64 000000006 Sr D 4 MOVL  PATSGL_OLDLABLS, PATSGL_SYMTBPTR :
1 0D 0004A PUSHL  #1 : 28
04 AC DD 0004C PUSHL  VALUE :
67 2 F 4F CALLS  #2, PATSFIND_VAL :
D sg TSTL NDEX . 2824
0fF 12 000 BNEQ $ :
64 000000006 sr D 8 6 MOVL  PATSGL_SYMHEAD, PATSGL_SYMTBPTR : 58 7
1 DD D PUSHL M1 . 2828
04 AC DD 0005F PUSHL  VALUE :
67 g F ooeg CALLS #2, PATSFIND VAL ;
64 D0 00045 1$: MOVL  TEMP_SYMTB, PATSGL_SYMTBPTR 2830
50 DS 00068 2%; TSTL guosx : 2832
0C 13 0006A BEQL g :
o0 A0 9F 0006C PUSHAB 13 (INDEX) : 2838
7€ 0C Ag 9A oogr MOVZBL 12CINDEX), =(SP) :
5 go 800 ; PUSHL R ;
00EF 21 0007 BRW 138 :
g D4 00078 3%: CLRL NT _PTR : 2849
D4 0007A CLRL  ARRAY DESC_ADDR : 2850
50 68 DO 0007C MOVL  PAT$GB_MOD”PTR, RO : 2855
03 02 Ag 53 0007F BLBS  2(R0),”5S$ ;
00E 1 00083 4$: BRW 14$ :
F6 000000006 ;r E9 00086 5$: BLBC  PATSGB_SYMBOLS, 4$ :
E D& 00080 CLRL  =(SP) : 2863
04 AE 9F 0008F PUSHAB NT PTR ;
04 Ag DD 00092 PUSHL  VACUE 3
000000006 EF FB 8009 CALLS  #3, PATSVAL_TO_SYM ;
E4 0 59 009¢ BLBC RO, 4$ ;
06 AE 9F 0009F PUSHAB REAL VALUE : 2870
04 AE DD 00A§ PUSHL  NT_PTR :
000000006 EF g F8 000A CALLS cs. PATSSYMBOL _VALU ;
D4 E9 000AC BLBC RO, 4$ ;
50 6E 69 C1 000AF ADDL3  PATSGL_RST_BEGN, NT_PTR, RO : 2880
08 A0 ag 083 TSTW (RO) ;
3E 13 00086 BEQL $ ;
50 06 A0 DO 00088 MOVL  4(RO) D%T RECRD : 2891
02 02 A0 02 gg oggi 8525' #0, #2, 2(BST_RECRD), #2 : 2892
02 02 A0 02 55 ¢ CMPZV  #2, #2, 2(DST_RECRD), #2 . 2893
CA BNEQ 6 ;
OF 02 A0 04 4 5 32 EQZEV ,g, #4, 2(DST_RECRD), #15 2894
0c 02 AB 9 D4 6% BITB (DST_RECRD), #12 . 2895
1C 1 D BNEQ $ :
FO BF 02 ? ? 8? Eﬁ{% gosr_aecao). #240 : 2896
52 4 AE g E1 7%: MOVL  REAL_VALUE, ARRAY_DESC_ADDR ; 5905
8 AE OF cg PUSHAB BOUNDS : 2906
3 00 Q00E PUSHL  ARRAY DESC ADDR :
000000006 EF f EA CALLS #2, PKTSGET BOUNDS :
04 AE 80 AE D Fi MOVL  BOUNDS, REAC VALUE : 5907
50 04 AC & A C F6 8%: SUBL3  REAL_VALUE, VALUE, RO ;2916




PATSSV
v04-000

53

; Routine Size:

00000100  &F
50 6E

000000006
00000000V
0¢

m
-

>»m
m-n

0¢

owviviv =B 0O~
S, ONNO OO

o
>

o
o

66

7€
0088 (Cé

378 bytes,

Routine Base:

it
1
88 D1 Q00F
$ I8
03 A0 85 1
50 1 10€
10 AE 9F 001 ?
06 AE DD 001
02 FB 00114
10 AE 9F 00118
01 B 11;
06 AC D; 1
& 1 81 &
06 A5 9F 0012C
01 Fg 01¢f
06 AE (€2 001 ;
00 88 91 001
8; 18 138
D 130
01 A0 95 0140
02 78 00144
3 EF 0148
04 % 014
30 D7 0015
gg 1 012
D1 00154
Og 1F 001;7
08 A5 9F 00159
01 FB 0015C
06 AC DD 0015F
Sg DD 80162
0C A5 9F 00164
03 F£B 00167
04 0016A
01 DD 08168
08 AC 70 8 16D
04 AC DD 00171
04 F£B 00174
04 00179

_PATSCODE + 0149

UL
wwv
o0 -
VO
U
—
OO
CoCo

o
"

108:

11%:

128:

13%:
14$:

15%:

4 ?3:;}:43 VAX=11 Bliss=32 V&.0-74
4 152:4 DISKSVMSMASTER: [PATCH.S
CMPL Rg. #256

aLssg 9

ADDLS  PATSGL_RST_BEGN, NT_PTR, RO
1STB  3(RO)

BGEQ  14$

PUSHAB PATH VEC

PUSHL  NT_PTR

CALLS  #27 PATSADD_NT_T_PV
PUSHAB PATH VEC

CALLS #1, PATSPRINT PATH

CMPL VAkue. REAL_VALUE

BEQL 15

PUSHAB P,AAC

CALLS #i, PATSFAO_PUT

SUBL2 REAL_VALUE, VALUE

CMPB  @PATSGB_MOD_PTR, #16

BNEQ 148

MOVL  #7, I

MOVAB  1(RO), CLUDGE_SIZE

ASHL  #2, 1. R1

EXTZV  R1, #4, VALUE, CLUDGE_VAL
BNEQ 11§

DECL 1

BRB 108

CMPL C%UDGE-VAL. 10

BLSSU 128

PUSHAB P.AAD

CALLS  #1, PATSFAO_PUT

PUSHL  VALUE

PUSHL  CLUDGE_SIZE

PUSHAB P.AAE

ge%Ls #3, PATSFAO_PUT

PUSHL M

MOVQ  NEW LENGTH, =(SP)

PUSHL  VALOE

Se%LS #4, PATSOUT_NUM_VAL

2
R

—

¢ 3
cIPATSSV.832. 1% ($)

2917
2928

2933
2940
2949

2950
2959

974

977
2978
2974
2983
2985
2987
2986

2961
2997

AR LR LR TR R L T TR T P P P P T P T T P TR P PR PR P P PR T P PR T AT A TR TR T TR P TR T T

2998
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1
PATSSV 1%-50 -1984 :11:4 VAX=11 Bliss=32 V4.0-742 Page 24 PAT
voa-3oo 14-503-193& ?}:;}:43 DISKSVHSHASTER:[PATCH.SRCJPAfSSV.B32:1° (i) V04
: ;E? 988 } GLOBAL ROUTINE PATSSHOW_MODULE : NOVALUE = :
B § 881 1 14+ :
: ;E‘ 8 § } ; FUNCTIONAL DESCRIPTION: :
; 755 8 & 11 Show which modules from the MC are in the RST. s
3 % 05 1! :
H 727 006 1 ! FORMAL PARAMETERS: H
; 3 007 1! :
TR . 008 1! NONE . :
: 760 009 1! :
: 161 010 1 ! IMPLICIT INPUTS: S
: 76; D11 % 1 :
s 76 O1§ | B PATSGL_MC_PTR =] s assumed to point to the beginning :
: 764 015 1! of the MC. . :
: 765 014 1! :
: 166 015 1 ! IMPLICIT OUTPUTS: :
: 067 016 1! :
: 768 3017 1! NONE :
: 769 018 1! :
s 170 3019 1 ! COMPLETION CODES: :
s m 3020 1! :
3 It 3021 1! NOVALYE. :
: IT 30 g 1! :
: 174 30 1 ! SIDE EFFECTS:
: 775 3026 1!
s 176 3025 1! A summary of the current modules which the RST knows
: 77 3026 1! about is written to the console.
: 778 2027 1!
s 779 028 1 !=-
; 780 059 1
: 81 030 BEGIN
. 78 031 LOCAL
: 8 303% OUTPUT _BUFFER : VECTOR CTTY_OUT_WIDTH, BYTE], ! Buffer to build report in.
: 784 303 g NUM_MC_ENTRIES, ! How many entries there are in the MC.
3 ;gz 38%? MC_PTR™: REF MC_RECORD; ! Pointer to current MC record.
: 787 036 144
; 788 037 ! Set up to do standard PATCH 1/0.
: 789 0?8 | o=
;790 039 2 PATSCP_OUT_STR = QUTPUT_BUFFER +1;
: 9N 040 PATSGL _BUF_SIZ = 0;
: 79 041
3 1Y O‘g 144 ! :
3 ;gg 82‘ ! Initialize the pointer that we use to 'chain' thru the module chain.
s 796 045 IF_((MC_PTR = .PATSGL_MC_PTRLMC_NEXT]) EQL 0)
: 797 869 THEN
; 798 4 BEGIN
: 799 048 SIGNAL (PATS _NOLCL+MSGSK_INFO);
: 800 049 RETURN;
: 8’ 050 END;
; 80 851
: 80 S; 144
; 804 05 ! Print out the title, and then loop thru the module chain simply giving the
3 ggz 822 ! relevant information for each module which we know about.




PATSSV Sep=1984 01:11:4 VAX=11 Bliss=32 V4.0-742 Page 25 PAT
VOA-SOO 2 503-1824 ?}:}}:43 DlSKiVMSMASTER:[PAI’CH.SRCJPMSSV.B32:1g (i) V04
: 807 9 NUM _MC _ENTRIES = 0;

3 gOB PATSFAG_PUT( UPLIT (XASCIC 'module name symbols size!/'));

H 09 8 PATSOUT® PUT(OUTPUT_BUFFER);

: 810 DO

. 81 60 BEGIN

: 81§ 61 T4

: B 06; i Print out the standard information - name and

: g}g 82‘ : whether or not it has been initialized into the RST.

: B16 065 NUH MC_ENTRIES = .NUM _MC _ENTRIES +1;

;. 817 066 PAT!CP OUT_STR = UTPUT GUFFER +1;

: 818 067 PATSGLBUFSIZ =

; 819 068 PATSFAD_PUT( UPLI 1T SASCIC '115AC !3AC ' ), MC_PTR [MC NAME_(S],
: 820 069 & (IF (.MC_PTR CMC_IN_RST]) THEN UPLIT( XASCIT 'yes' )

;. 821 070 ELSE UPLIT( XASCIC 'no' )));
3 825 071

; 82 07§ T4+

: 824 207 i We have to zall a routine to output the size

3 g%g gg;g 3 ! so that it comes out in the right RADIX.

; 827 3076 PATSFAO_PUT(UPLIT(XASCIC''UL.") ,PATSMODULE_SIZEC(. HC PTR));

3 gzg 8;; gAgSOUT PUT(OUTPUT _BUFFER); ! Tnally output the buffer.
: 850 079 WHILE ((MC_PTR = .MC_PTRLMC_NEXT]) NEQ 0);

;. 8% 080

3 83% 081 lee

3 gg‘ 83% i Give final summary information.

; 835 084 g PATSCP OUT_STR = QUTPUT_BUFFER +1;

: 836 085 PATSGL | BUF SIZ = 0;

: 837 086 s PATSFAD_PUT( UPLIT( XASCIC *!/total modules: 'UL.'), .NUM _MC ENTRIES);

: 838 3087 PATSFAO PUT( UPLITC XASCIC '!/remaining size: 'UL.'), PATSREPORT REE(’).

s gzg gggg % Eﬁ;tOUT PUT(OUTPUT_BUFFER) ;

.PSECT _PATSPLIT ,NOWRT ,NOEXE,O

73 20 20 65 6D 61 65 20 65 6C 75 64 6F 6D 1C 00019 P.AAF: _ASCII <28>\module name symbols size!/\<0> :
00 2F 21 65 7A 69 73 20 20 73 6C 6F 62 6D 79 F
00 80 00 LASCII  <0><0> :

00 20 20 20 43 41 33 21 20 43 41 35 31 21 00 00‘8 P.AAG: LASCII <13>\!15AC !3AC \<0><0> :
73 65 79 82 8 48 P.AAH: .ASCII <3>\yes\ :

00 6F 6% 82 004C P.AAI .ASCII <2>\no\<0> H

00 00 90 2E 4C 55 4 00 ; P.AAJ: LASCII <&>\'UL.\<0><0><0> :

65 6C 75 64 6F 6D 58 gg 2} Sg gq 74 5 } ;g 88 P.AAK: .ASCII <22>\!/total modules: 'UL.\<0> F
69 73 20 67 6E 69 6E 69 61 go 35 ;g F 21 16 88?0 P.AAL: L.ASCII <22>\!/remaining size: 'UL.\<0> 3
00 26 4C 55 21 2 A 65 7A TF 3

.PSECT _PATSCODE ,NOWRT,2
01FC 00000 .ENTRY PATSSHOW_MODULE, Save R2,R3.R4,RS.R6,R7.R8 ; 2999

TR R I I I LR T O T T T T s e e e e R L L T L T T T T R R R L R TR T A A T T TR TR LA E TR T PR TR TR TR TN T




1
PATSSV 1§-s. -1984 01:11:4 VAX=11 BLiss=32 Vé&.0=742 Page 26
v04=-000 1 -s.3-1334 ?1:!3:43 oxsxsvnsnAsren:cpAtcu.sacJPArssv.asz;?° (5)
9 G EF 9E 83 MOVAB  PATSCP_OUT_STR, R8 ;
G EF 9E MOVAB PAT{GL_RST_BEGN. R? :
g 6 EF 9E 19 MOVAB  PAT GL.BgF.SIZ. R6 :
EF 9E 0001 MOVAB  P.AAF,-R :
4 FDI1B  CF 35 1 MOVAB PA;;FAO PUT, Ré4 :
sg FF7C CE 9E MOVAB  =132(SPY, SP :
6 01 A 95 MOVAB  QUTPUT_BUFFER+1, PATSCP_OUT_STR : 3039
66 D C CLRL_  PATSGL-BUF_SIZ : 3040
50 000000006 gr & §1 ADDL3  PATSGL™RST”BEGN, PATSGL_MC_PTR, RO : 3045
2 3? 15 8 gggguL §n0). AC_PTR :
006D81CB 8F DD PUSHL  #7176651 : 3048
000000006 00 31 52 §82? SQ%LS #1, LIBSSIGNAL  anes
g; D4 0843 1$: CLRL ngn_nc_enraxss ; gos
00 0004B PUSHL R : 305
64 21 FB8 0004D CALLS  #1, PATSFAO_PUT :
E DD 0005 PUSHL SP : 3058
0128 (& 21 FB 085 CALLS  #1, PATSOUT PUT :
3 D6 00057 28%: INCL.  NUM_MC_ENTRIES : 3065
68 01 AE 9 00059 MOVAB  OUTPUT-BUFFER+1, PATSCP_OUT_STR ¢ 3066
66 D& 0005D CLRL_  PATS$GL-BUF _S12 : 3067
50 52 67 C1 0005F ADDL3 pArsgL nsr,gssn. MC_PTR, RO : 3069
06 03 A0 01 €1 00063 BBC #1, 3(R0),"3$ :
51 30 AS 9E 00068 MOVAB P.AAH, R1 :
04 11 0006C BRB 4$ :
51 3 AS O9E ooes 3s MOVAB P,AAI, RI : 3070
51 0D 00072 &% PUSHL  R1 :
0c Ag 9F 00074 PUSHAB 12(R0) : 3068
20 AS OF 80077 PUSHAB P,AAG ;
64 gs FB 0007A CALLS  #3, PATSFAO_PUT ;
2 DD 80070 PUSHL  MC_PTR : 3076
4B AL 21 FB 0007F CALLS  #17 PATSMODULE_SIZE :
0 DD 0803 PUSHL RO ;
38 AS 9F 00085 PUSHAB P.AAJ ;
64 02 FB 00088 CALLS #2, PATSFAO_PUT :
SE DD 00088 PUSHL SP ;3077
0128 C4 01 FfB 80080 CALLS #1, PATSOUT PUT ;
52 67 21 009 ADDLS  PATSGL RST_BEGN, MC_PTR, RO : 3079
52 60 3C 000 MOVZWL (RO), MC_PTR :
BC 12 000 BNEQ 2% ;
68 01 AE 92 098 MOVAB  OUTPUT_BUFFER+1, PATSCP_OUT_STR : 3084
g D4 0009F CLRL  PATSGL™BUF SI1Z : goas
go A; PUSHL  NUM_MCTENTRIES : 3086
40 A5 9F 000A PUSHAB P,ARK ;
64 8 000Ab CALLS #2, PATSFAO_PUT ;
000000006 EF rg 39 gaghf : . PATSREPORT_FREE : 3087
58 A5 9F 0008 PUSHAB P,AAL ;
64 2 FB 000B CALLS #2, PATSFAO_PUT ;
0128 Cé ? ?g BA EHEE% 3? PATSOUT PUT § S0
04 000BF RET : ” : 3089

; Routine Size: 192 bytes, Routine Base: _PATSCODE + 02C3

l
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16-5e0-108¢ 12:00i08  DISKIUmSRASTER: CPATER  SRcparssy.es2?To (B ol
PTR )

GLOBAL ROUTINE PATSSHOW_SCOPE( PATH_VEC : NOVALUE =

|+§
i Functional Description:

Print out the current scope position vector (CSP).
Formal Parameters:

none.
Implicit Inputs:

The CSP is a PATHNAME _VECTOR.
Return Value:

NOVALUE

OUTPUT_BUFFER : VECTOR CTTY_OUT_WIDTH, BYTEJD; ! Build output message here.

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
%
:
% ! Set up to use a new output buffer, and encode the standard bcginning of
g the SHOW SCOPE message into it.
PAT&CP _OUT_STR 8UTPUT-BUFFER +1;

PATSGL_BUF_SIZ
PATSFAO_PUT( UPLIT( XASCIC ‘scope: ') );

44

! The actual thing we print out depends on whether or not there is actually
! a CSP just now.

IFE§.PAT$6L_CSP_PTR NEQ 0)
PATSPRINT _PATH( .PATSGL_CSP_PTR )
PATSFAO_PUT( UPLIT( XASCIC '<null>' ));

144
i And finally force out the message.

E:;SOUT_PUT( OUTPUT _BUFFER );

PSECT _PATSPLIT,NOWRT ,NOEXE,O

F 63 3 AAM: ASCII <7>\scope: \
S 6 3C 8 88838 P.AAN: .ASCII <6>\<nul>\<0>

T e e T e s e s e e R R TR L L L T T T T T P P T T P P PR PR TR PR TR PN TR TN TR TN TN T T

B 3 & & %

R R




PATSSV
v04-000

: Routine Size:

72 bytes,

:
%

00000000V EF

000000006

0128 (2

2 FC77 Cfoogé
E FF7C CE gE
F 000081 @F E
880000089 8; §F
000000006 §F ?g
8 DD
g o
00000000 5? 9F

2 1 FBO

5E DD O

01 fFB O

06 0

Routine Base:

_PATSCODE + 0383

OO0 O0O0O0O0O0O0O0O0O0O0O0O00O
5555 B ANWNNI NN = = OO0 0O

NNO O NVIMO B WO » SOy ~NINO

N -
o

o

(E-seo-1ats 91:11:43

PSECT

+ENTRY
MOVAB
MOVAB
MOVAB
CLRL
PUSHAB
CALLS
MOVL
BEQL
PUSHL
CALLS

PUSHAB
CALLS
PUSHL
CALLS
RET

VAX=11 Bliss=32 V

-PATSCODE ,NOWRT, 2

PATSSHOW SCOPE, Save R2
PArg A0 _PUT, R2
132(SPY, SP

)
OQUTPUT BUFFER¢1 PATSCP_OUT_3TR
PATSGL ~BUF_SI12

PATSFAO PUT
fseL CSP_PTR, RO
, PATSPRINT_PATH

AAN
g1, PATSFAO_PUT

#1, PATSOUT_PUT

4,0-742
DISKSVHSHASTER [PATCH SRCIPATSSV. 832 1

(A TEATETETE PR TR TR PR PR TR TR TR TR DR TN 1Y

* &

3090

§1§0
121
123

3129
AN

3133
3138
3139

PAT

<
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- S —— p— - =
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%, o S z ¥ - ‘
104-000 %§2§:8-1382 THIRT g?§x13n§h£§?Eggtgzigu?ggcJPATssv.BSZ??ge(15? Voa-

gz GLOBAL ROUTINE PATSPV_TO_CS( PATH_VEC_PTR, OUTPUT_BUF ) : NOVALUE =
95 144
ggg ! Functional Description:
98 Encode a pathname vector into a given vector
888 so that what we have built is a counted string.
381 Formal Parameters:
90 PATH_VEC_PTR =A pointer to the pathname vector we
38? want encoded.
389 OUTPUT _BUF -A pointer to where we build the counted string.
388 Implicit Inputs:
1 We will encode up to TTY_OUTPUT_WIDTH characters.

The rest of the pathname vector is ignored.
Return Value:

NOVALUE.
Side Effects:

The pathname is encoded into the given buffer.

. —— - - - w—

EGIN

5

OUTPOT_PTR : REF VECTORL,BYTE];

AN LA NN PO NI NI PN NINONIAD = b e e ecd ed e e d

144
! Make sure we are called with valid parameters.

&.PATH_VEC_PTR EQL 0) OR (.OUTPUT_BUF EQL 0)
RETURN;

{;
THE

VOV OVOVOOVOOOVOVOVOVOVOVOVOVOVOVOVOVOVOOVOOVOOOOOO

SN
OO0

W o L L Ll L U L L U LAl L U U U W U L U L U o U U U U U U U U U U U U U U U U U U U A U U U U U N U N U N N NN NN

— D i il i ol e i D D ) ol -l - - ) b ) = — ) - - - D ) —— — - —d - - D D e i D D D D D D e D D D D D D D i D D D

V0000000 NN NN N NNSNNNOC OO OO OO OO O NIV S S NN 0
332&33°oo~c»mau--ooawou»uw-aooonwo\.naw-ooawomamaocawwaw—-o

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
%
P
OUTPUT BUF : REF VECTOR[C,BYTE],
PATH_VEC_PTR : REF PATHNAME_VECTOR;
LOCAL
CHAR _COUNT,
l¢4 .
! Just encode the characters into the indicated position in the buffer until we

A R R A A TR TR TR A T A PR P PR PR PR DA DR TR LA LA A TR DA LA LA LR LA LA PR PR DR PR PR PR TR PR TR TR TR TR P TR T TR T A T TN T T

s
961 ! The size of the counted string we build starts off as 0. The first element
gz ! in the string starts at the next character.
94l CHAR_COUNT = 0;
325 OUTPOT_PTR = OUTPUT_BUF[1];
94
948
949 ! have exhausted the (S pointers in the pathname vector.
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THEN

P4

PATSSV 2 Sep 4 4 VAX=11 Bliss=32 V&4,0-742 Pa 0 PAT
V04~ 800 14=Sep g 4 ? Qg DISKSVHSHASTER:[PATCH.SRCJPATSSV.B32:100(13) V04!
P 3ed 138  inch 1 FRom 0 TO MAX _PATH_SIZE

P9 ; 193 D0

: 9 00 BEGIN

;954 01 LOCAL

;955 Oi CS_PTR : CS_POINTER; ! Each element of the pathname vector
: 326 8‘ ! is a pointer to a counted string.

; 95; 05 144

: ggg 89 ! Terminate when the path vector ends.

;961 08 & IF ((CS_PTR = .PATH_VEC_PTRC.11) EQL 0)

;962 09 THEN ~ e di et

E ggz }? EXITLOOP;

P 965 §1§ 44

;. 966 1 i OQutput the pathname element separation character in all but the first

: ggg iz}g i iteration.

. 969 %16 4 IF (.1 NEQ 0)

: 970 217 3% THEN

;M %18 4 BEGIN

s 97 19 & CHAR_COUNT = CHAR COUNT +1;

: 97 %20 4 ouTPOT _PTR[O] = ik &

;974 21 & OUTPUTPTR = .OUTPUT ﬁra +1;

5 3;2 %2? 3z END;

P 977 §2§‘ i Les

: 3;3 %22 3 ! See if we have enough room lLeft for the next pathname element.

: 980 gg%g 4 IF_(NOT .CHAR_COUNT + .CS_PTRCOJ LSS TTY_OUT_WIDTH)

;982 gzgo EXITLOO
; 983 230 CHSMOVE ( cs PrntOJ CS_PTRC11, .OUTPUT_PTR );

;. 984 2%1 CHAR_COUNT =",CHAR COUNT .CS PTRCO]);

: 985 2 g OUTPOT_PTR = .OUTPOT_PTR + cs_ PTRCO];

: 986 §23 END;

: 987 234

: 988 235 144

: 333 éggg ' Now make the output buffer a real counted string.

P 991 3238 ourpur _BUFL0) = .CHAR_COUNT;

3 239 1 E

03FC 00000 .ENTRY PAT$PV TO CS, Save R2,R3,R4.h,.R6,R7.R8,R9 ; g1ao
04 AS DS 0000 TSTL PATH_VEC_PTR : 3183
48 1 800 BEQL  4$ ;
08 Ag 05 000 TSTL  OUTPUT_BUF :
2y ) 80 A BEQL 43 3
59 08 AC 21 s C ADDL3 ourpur _BUF, OUTPUT_PTR ;3192
9 8 1 CLRG cuA ;3191
58 04 BC47 D 13 1%: MOVL aPArn vec PtR[l] CS_PTR : 3208
31 13 0001 BEQL 3s :
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D 2
PATSSV 16-Sep=-1984 01:11:4 VAX=11 Bliss=32 V&4.0-742 Page 31 PAT!
vo«-aoo 12-5-8-1334 ?5:%5:43 DISKSVMSMASTER: CPATCH .snchArssv.asz;1° <13) V04
70 1A TSTL 5 : 3216
2 1 1C BEQL $ ;
18 INCL  CHAR_COUNT ;1219
9 5¢C F MOVB 492, (ourpur PTR)+ : g so
8 8 9A L 2% MOVZBL (cs : 7
o 7 ADDL2  CHAR ?ggNT no ;
00000084  8F D1 A CMPL RO, W ;
18 18 ; BGEQ 3§ :
sg g A 8 MOVZBL (85 PTR), RO : 3230
69 01 A 8 6 MOVC3 RO, 1(CS_PTR), (OUTPUT_PTR) ‘
50 68 GA B novsz (CS_PTR) RO P 323
gg sg 30 E ADDL2 RO cunn_coxnr :
g A 00041 MOVZIBL (CS_PTR); R P 3232
59 0 ‘2 0044 ADDL2 RO, OUTPUT_PTR :
8 57 2A F3 00047 AOBLEQ #10, I, 18~ | ; 3198
08 BC 6 90 0004B 3$: MOVE  CHAR_COUNT, @0UTPUY_BUF : 3238
04 0004F 4$: RET : 3239

; Routine Size: 80 bytes, Routine Base: _PATSCODE + 03(B
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2
1§-Se =-1984 01:11:4 VAX=11 Bliss=32 V4.0-742 Page 32
1 -508-19 4 ?5:}5:43 DISKSVHSHASTER:CPATCH.SRCJPATSSV.832:1g (QRD)
GLOBAL ROUTINE PATSPRINT_PATH( PATH_VEC_PTR ) : NOVALUE =
144
; Functional Description:
g Encode a pathname vector into the output stream
g Formal Parameters:
g PATH_VEC_PTR  =-A pointer to the pathname vector we want printed.
é Implicit Inputs:
i Some exterior routine has done all the setup for
; PATCH standard 1/0. This routine just does 'puts’.
g Return Value:
g NOVALUE.
g Side Effects:
| The pathname is encoded into the current output buffer.
low
BEGIN
MAP
PATH_VEC_PTR : REF PATHNAME_VECTOR;
LOCAL
SYM_BUFFER : VECTORL TTY_OUT_WIDTM, BYTE];
!00
! First encode the characters into our own buffer - because we have a routine
! that already knows how to do this,
PATSPV_TO_CS( .PATH_VEC_PTR, SYM_BUFFER );
44
; Then simply output the pathname.
ga;SFAO-PUT(UPLIY(lASCIC "IAC*), SYM_BUFFER );
.PSECT _PATSPLIT,NOWRT,NOEXE,0
43 41 21 03 00098 P.AAD: .ASCII <3>\!AC\ :

.PSECT _PATSCODE ,NOWRT,2

0000 000 LENTRY PATSPRINT_PATH, Save nothin ;3240
ce 98 00009 =132(SP), ~SP . :

S5E FF7C MOVAB
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PATSSY 1 e -1 14 VAX=11 §=32 V4.0-742 Page 33
vo«-aoo 1 -Sep- 384 ?3 ;l 3 DISKSV n TER: (P ATCH.SRCJPATSSV.BSZ:?’ (1?)
SE DD 7 PUSHL  SP ; 3277

04 AS DD 9 PUSHL PATH_VEC PTR :

AO  AF FB CALLS 02. PArst T0_CS ;
E 30 1 PUSHL s : 3282

00000000" sr F 0001 PUSHAB ;

FBC8  CF 2 FB 0001 CALLS 02. PATSFAO_PUT :
04 0001D RET : 3283

; Routine Size: 30 bytes, Routine Base: _PATSCODE + 0418




PATSSY
V04-000
; 1039
: 1040

3885 0

ELUDOH

Name
PATSCODE

PATSPLIT

File
_$2558DUA28:(SYSLIBILIB.L32;1

Size: 1081 cgge + 160
Run Time: 00:35.
Elapsed Time: 01:56.
Lines/CPU Min: 5581
LexelelePU-Hin 34161

{ Used: 227 pages
Compilation Complete

LA TE TR TR TR

PSECT SUMMARY

-seomions LlLes o

+EXTRN LIBSSIGNAL

Bytes Attributes
1081 NOVEC,NOWRT, RD , EXE,NOSHR, LCL, REL, CON,NOPIC,A
0 NOVEC,NOWRT,NORD ,NOEXE,NOSHR, LCL, ABS, CON,NOPIC.A
& NOVEC, WRT, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC,A
156 NOVEC,NCWRT, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC,A
Library Statistics
-------- Symbols =====ee- Pages Processing
Total Loaded Percent Mapped Time
18619 4 0 1000 00:01.9

COMMAND QUALIFIERS

data bytes

BLISS/CHECK=(FIELD,INITIAL ,OPTIMIZE)/VARIANT:1/L1S=L1S$:PATSSV/0BJ=0BJS:PATSSV MSRCS:PATSSV/UPDATE=(ENHS:PATSSV)

$=32 V4.0-742 g
TER: [PATCN SRCIPATSSV, 832 1 (1 )

PAT!
VO&:
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